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1. What is the vertex of
f(x) =2(x-4)"-6?

(Y- )

2. What are the x-intercepts of
fx) =2(x-7)(x + 3)?

%,0)

(Mh.0) (-

3. Given f(x) = ax? + bx + ¢, what

does the x = -b/2a represent?
UK 1 ‘f, (&) "\? = [] A% AT ‘\ i & (/»ji
and X-value \er rex

4. Find the axis of symmetry
F(x)=2x*+8x-2

X= -8 _ -8 =-.9
LD -

A=-2

5. Factor completely.
x*-7x+ 10

(x-2 x-5)

6. Factor completely.
12x* + 19x — 18

7. Factor completely.
8x3 +1

3. Factor completely.
n’ — 64

]

S

9. Factor completely.
2x*+ 7x - 15

(2x-3)(x+3)

10. Factor completely.
2x3 — 7x% — 8x + 28

X*(2x-7) -4 (2x-7)
Cox-NU X% )

. N B

(2 x - x+2) x- 2.)




11. Solve. 12 Solve.
2(m -7 =16 x?+12x-45=0
% 2 ( »
X+15)(x-2)70
['m«-ﬂ lf;. Q 4=
m =712z
13. Solve. 14. Solve.
12 -13r+42=90 3x3 —4x2 - 27x+36=0

(CX=NAUK~6Y=0

X*(3x-4)-a(z3x-4)=0
(Gx-uXx%9) =0

Lo A=l {
:K p= [__,— - 6 3
3 X= 23
15. . Evaluate 16. Divide x3 + 5x% — 7x + 2
f(x)=x3—-2x2+5x+6 by x — 2 using synthetic division.
forx = —1.
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17. Describe the end behavior of the
polynomial function by completing the

statements.
f(x)=—-2x3+x>-5

%

X - - @0 L (xy> a0

> ap & (%) > -0

18. x — 5isafactor of
flx) =x% —11x* + 14x + 80
Factor f(x) completely.

51 1 -n 4 80
y 5 -30_ -%0
I “\lo O

(x-s) 2" X -lb)
(x-5) x-g A X+2)




